QO, RANCH
v/’ HAND

INSTALLATION MANUAL

Level of Difficulty
Easy

Installation difficulty levels are based on time
and effort involved and may vary depending on
the installer level of expertise, condition of the
vehicle and proper tools and equipment.

Parts List

Qty | Description

1 Driver / left running board

1 Passenger / right running board
12 | Bolt, M8

12 | Flat washer, M8

6 Clip nut, M8

6 Flange nut, M8

6 Lock washer, M8

Tools Required
Wrench / socket, 1/2" | --

Torque Specifications
M8 bolt 17 - 20 ft-lbs.

Use above torque setting unless otherwise noted

Product Registration and Warranty

Ranch Hand stands behind our products
with industry-leading warranties. To get
copies of the product warranties, register
your purchase or provide feedback, visit:
warranty.curtgroup.com/surveys

Product Photo

Product Photo

NOTICE
Visit www.ranchhand.com for a full-color copy of this

instruction manual, as well as helpful videos, guides and much more!

Before you begin installation, read all instructions thoroughly.

Proper tools will improve the quality of installation and reduce the time required.

Periodic inspection of your product should be performed
to ensure all hardware and / or components remain secure.

These running steps are engineered and manufactured specifically for

driver and passenger sides of your vehicle. The short, 45° bend and the
largest step (18") is installed towards the front of the vehicle. For straight cut
bed access step models, the striaght cut is installed to the rear of the vehicle.

To help prevent damage to the product or vehicle, refer to the specified
torque specifications when securing hardware during the installation process.

Maintenance

Mild automotive detergent may be used to clean the product. Do not use dish detergent, abrasive
cleaners, abrasive pads, wire brushes or other similar products that may damage the finish.

RANCHHAND.COM - PRODUCT SUPPORT: 877.287.8634 - RSF99-INS-RA - 11/21/2022 - ECN9841  PAGE 1



Step 1

Starting on the driver side,locate the holes for the upper
mounts (x3) and install the supploed M8 clips in each position.

Note: There will be four attachment points for the quad cab and
five for the crew cab. Only three will be used for the installation.

Crew Cab

Front
[ DRIVER I

L 1

Step 2

Install the step, aligning the brackets to the upper clips using an M8 bolt,
lock washer and flat washer for the upper attachment. Use an M8 bolt, flat washer
and M8 nut for the lower attachment. Leave the hardware loose at this time

Quad Cab Reg. Cab

P — Front

| DRIVER [

Step 3
After final adjustment, tighten all hardware to 17-20 ft-Ibs. of torque.

Step 4

Repeat steps 1 through 3 on the passenger side of the vehicle.
To protect your investment, see the 'Notes and Maintenance' section on page one.

Congratulations on the installation of your new Ranch Hand™ running steps.

RANCHHAND.COM - PRODUCT SUPPORT: 877.287.8634 + RSF99-INS-RA  11/21/2022 - ECN9841 - PAGE 2



